FNSHED __/
WAL

FINSHED WALL TO

1/8" RAL END CAP

6 MAX
FROM_SUPPORT

21/2 70
3 3/4 MAX

DUBBED
CORNERS
P,

POLISHED EDGES
ALL 4 SIDI

GLASS CERTIFICATION LOGO BY
GLASS WANUFACTURER (TYP)

A

ES T\

5/8_|
Y

FINSHED FLOOR

VARIES PER FELD DINENSIONS

48 MAX ON CENTER

3'~6" MINMUM HEIGHT *PER IBC CODE*

FINSHED FLOOR TO TOP OF RAIL

STANLESS STEEL

ALBAR 1-1/2 OA
POWDER COATED
BUTTN

3/8" CLEAR
TEMPERED CLASS \

SCS 1/4-20 X 3/4 BH 5§ \
POST STUB CUP W/ NUT —_ |

o
NS

FINISHED FLOOR \

(2 OR 1.5") 0D STANLESS STEEL OR
(2" OR 1.757) OD WOOD RAL

ALBR 1 X 1-1/2

SET SCREW
1/4-20 X 1/4

S5 STUD 5/16-18 X 2

1/4%" SS DISC
#4 CROULR FNSH

1/16" THK. PLASTIC
WASHER, EA. SDES

TUBE 3 X 2 X 120 ST.
POWDER COATED

SCS 1/4-20 X 3/4 BH S5

TUBE 188 X 1-1/2 S0, ST.
WITH 125 ST. AP

TUBE 065 X 3/4 SQ. ST

PoST

SCS 5/16-18 X 1-1/2 BH S5
R 3/8 X 1-1/2 ST R

CHANNEL STRUT
1-5/8 X 13/16 X 12 GA

LIVERS BRONZE CO. RECOMMENDS 1/2" THICK (MINIMUM)
STRUCTURAL STEEL (BY OTHERS). THE DESIGN AND
PLACEMENT OF THE STAIRS (BY OTHERS) SHALL BE
LEVEL AND PLUMB.

CONC. BY GENERAL CONTRACTOR

e o




48 MAX ON_CENTER

(27 OR 1.5 OD STANLESS STEEL OR
(2" OR 1.75") OD WOOD RALL

ALBAR 1 X 1-1/2

SET SCREW
a0 X 1/4

o~
(e

12
CONTINUOUS/LEVEL
TO_TANGENT

STANLESS STEEL
RAL BRACKET

STANLESS STEEL \ SCS 5/16-18 X 1-3/4 FH SS
RAL BRACKET
1/4%2°9 S5 DISC

§+ GROULAR FINSH

1/16 THK. PLASTIC
WASHER, EA. SIDES

| POLISHED EDGES
ALL 4 SIDES

3/8° CLER
TENPERED GLASS \
TUBE 3 X 2 X 120 ST
POWDER COATED

g
.
s

SCS 1/4-20 X 3/4 BH S5
DUBBED
CORNERS
TYP.

FINISHED FLOOR TO TOP OF RAL

TUBE 188 X 1-1/2 50, ST.
WITH .125 ST. CAP

TUBE .065 X 3/4 Q. ST.

FINISHED FLOOR T0 TOP OF RAIL

2-10" MNINUN. HEIGHT *PER IBC CODE*

TOP OF STEEL @ﬂ

FINSHED NOSE FasT
S5 1/4-20 X 3/4 BH S5
- :i?‘;} } SCS 5/16-18 X 1-1/2 B S5
post st cup w/ e —__ I BR 3/8 X 1-1/2 ST R [
[ QBR ven
Ml CHANNEL STRUT AT BOTION OF STV
I 1-5/8 X 13/16 X 12 GA
|
|
e FINSHED FLOOR
FINSHED NOSNG

GLASS CERTIFCATION OGO BY
GLASS MANUFACTURER (TYP)

LIVERS BRONZE CO. RECOMMENDS 1/2" THICK (MINIMUM)
STRUCTURAL STEEL (BY OTHERS). THE DESIGN AND
PLACEMENT OF THE STARS (BY OTHERS) SHALL BE
LEVEL AND PLUMB.

HLivers
_ BRONZ
o G0ty 003538 | Pen (516 3000004

i




FNsHED __/
WAL

VARES
4 UN

FINSHED WALL TO
1/8° RAL END AP

6 NAX
FROM SUPPORT

2 1/2 W
3 3/4 WX

Pal

GUASS CERTIACATON LOGO BY
GLASS NANUFACTURER (1P.)

USHED EDGES

AL 4 sEs N

5/8_J
v

FINSHED FLOOR

VARES PER FELD DMENSIONS

48 WAX ON CENTER

STANLESS STEEL
RAL BRACKET

AL BAR 1-1/2 DA
PONDER COKTED
BUTION

/8

CLER
TEWPERED GLASS \

3'-6" NINMUM HEIGHT *PER 1BC CODE*
FINISHED FLOOR T0 TOP OF RAL

FINSHED FLOOR

(2 OR 1.5°) 0D STANLESS STEEL OR
{2 OR 1.75) 0D WOOD RAL

ALBAR 1 X 1-1/2

1420 X 1/4

s S5 STUD 5/16-18 X 2

1/4°X2° S5 DISC
4 CROULR FINSH

1/16° THK. PLASTIC
WASHER, EA. SIDES
TUBE 3 X 2 X .120 ST.

POWDER CONTED

SCS 1/4-20 X 3/4 BH SS

TUBE 188 X 1-1/2 Q. ST
WIH 125 ST. G

[ TUBE 065 X 3/4 Q. ST

\ SCS 5/16-18 X 1-1/2 BH S5

4-1/2" 5. X 060 SS
COVER PLATE

40 CORE DRILL /

(BY OTHERS) s

POST SET, EXTERIOR OR INTERIOR

VARES \ CONCRETE EDGE.
Ty (B omHeRs)




VARES
4 MN

48 MAX ON CENTER

12
CONTINUOUS/LEVEL
TO_TANGENT

77
(16

5/8_J
v

| POLISHED EDGES
ALL 4 SIDES

DUBBED
CORNERS
TYP.

FINISHED NOSE

A

3'~6" MINIMUM HEIGHT *PER IBC CODEX

FINISHED FLOOR TO TOP OF RAL

STANLESS STEEL
RAL BRACKET

STANLESS STEEL
RAL BRACKET

3/¢

2'-10" MINMUM HEIGHT *PER IBC CODE*
FINISHED FLOOR TO TOP OF RAL.

FINSHED FLOOR
FINSHED NOSNG

8" CLEAR
TEMPERED GLASS \

WIH 125 ST. O
(- TUBE 085 X 3/4 5Q. ST.

(2" OR 1.57) OD STAINLESS STEEL OR
{2 OR 1.757) 0D WOOD RAL

ALBAR 1X 1-1/2

SET SCREW
1/4-20 X 1/4

\ S5 STUD 5/16-18 X 2
\ 1742 55 DT

#4 CIRCULAR FINISH

1/16" THK. PUSTIC
WASHER, EA. SIDES

TUBE 3 X 2 X .120 ST.
POWDER COATED.

SCS 1/4-20 X 3/4 BH S§

TUBE .188 X 1-1/2 50. ST.

CS 5/16-18 X 1-1/2 BH S5

4-1/2" S0. X .080 SS
3

/ COVER PLATE

476 CORE DRILL
(BY OTHERS)

POST SET, EXTERIOR OR INTERIOR

A

L

VARES \ CONCRETE EDGE.
4N (8Y OTHERS)




FINSHED WALL TO
1/8" RAL END CAP

6 NAX (2" OR 157) 0D STANLESS STEEL OR
FROM_SUPPORT (2* OR 1.75") 0D WOOD RAL

AR X 1-1/2

i
1420 X 1/4
FINISHED J
WAL
1T DUBBED =1 STAINLESS STEEL
CORNERS
TYP.

AL BIR 1-1/2 DA
PONDER COATED
BUTION

\ S5 STUD 5/16-18 X 2

1/4%2%8 S5 ISC
3/8° CLEAR \
POLISHED EDGES TEWPERED aLASS \ 14 orowu rrisk
ALL 4 SDES N\ /16 T, e
sa_|Lf L TUBE 3 X 2 X 120 ST.
L3 PONDER CONTED
S5 1/4-20 X 3/4 BH S5

TUBE 188 X 1-1/2 Q. ST.
WIH 125 ST. CAP

3'-6" NINMUM HEIGHT *PER IBC CODE*
FINSHED FLOOR T0 TOP OF RAIL

TUBE 065 X 3/4 SO. .

/)

GLASS CERTIFICATION LOGO BY SCS 5/16-18 X 1-1/2 BH §S
GLASS NANUFACTURER. (TP.)

21/2 170
3 3/4 MAX

FINSHED FLOOR FINSHED FLOOR

LIVERS BRONZE CO. RECOMMENDS 1/2" THICK (MINIMUM)

/(z) SCS 1/2-13 X 1" BH S5

TOP OF CONC. STRUCTURAL STEEL (BY OTHERS). THE DESIGN AND
PLACEMENT OF THE STARS (BY OTHERS) SHALL BE

o o o o o o LEVEL AND PLUMB.

7 VARES PER FELD DMENSIONS 48 WX ON CENTER

4 X8 X 5/8

STEEL PLATE.

PLUG WELD TO' STRUCTURAL
STEEL (BY OTHERS)

TOP OF FINSHED FLOOR

FRON FIGH POINT
IN FINISHED FLOOR

TOP OF CONC.
-

oo 16) 02520 | o 510 000968

1 /4 3 s cm




48 NAX ON CENTER

2

(2! OR 1.57) 0D STAMLESS STEEL OR
(2" OR 1.757 0D WOOD RAL

~ AR X 1-1/2

SET SCREW
1/4-20 X 1/4

STANLESS STEEL
RAL BRACKET

7
(1 ¢

12
CONTINUOUS /LEVEL
A

\ S5 STWD 5/16-18 X 2
\ /42 5 D5
#4 CIRCUAR FINISH
/16" k. puT

WASHER, EA. SIDES

STANLESS STEEL
RAL BRACKET

584 |+
P

/

3/8" CLEAR
TENPERED GLASS
POLISHED EDGES
[” AL 4 SIDES BE 3 X 2 X 120 ST.

b
POWDER COATED

FINISHED FLOOR TO TOP OF RAL

SCS 1/4-20 X 3/4 BH S

3'-6" MINMUM HEIGHT *PER 1BC CODE*

TUBE 188 X 1-1/2 SQ. ST.
WIH 125 ST. oA

[ TUBE 065 X 3/4 0. ST.

©
"
©

FINISHED FLOOR 0 TOP OF RALL

2-10" NINMUM HEIGHT *PER 1BC CODE®

ouBBED
CORNERS

LiJ\
SCS 5/16-18 X 1-1/2 BH §§

(2) SCS 1/2-13 X 17 BH SS

LIVERS BRONZE CO. RECOMMENDS 1/2" THICK (MINIMUM)
& STRUCTURAL STEEL (BY OTHERS). THE DESIGN AND
/ PLACEMENT OF THE STAIRS (BY OTHERS) SHALL BE
LEVEL AND PLUMS.

GUASS CERTFICATION LOGO BY o
GIASS WANUFACTURER (TYP.)

\

X8 X 5/8

STEEL PLATE.

PLUG WELD TO STRUCTURAL
STEEL (BY OTHERS)

1,
FROM HIGH POINT
IN NOSNG LINE

TOP OF STRNGER
FINSHED NOSING
UNE




